ohg

ol
_>|§
I
o]l‘l
E
o
rL
rlo

D

® 3x>-442x @ x*-2<x+x2+1
x—1
3
® 1-2(x-3)<4x+3-6x

@ 31-x)>x+7



2. x7}-1,0,1,2¢ W], 54 5 - x> 32 o] HA sl= x 9] =2

® -1,0,1,2 ® -1,0,1 ® 0,1,2
@ 1,2 ® 2



3.

a>b o[ et

2a-5[ |2b-5

Mo



4. ©hg REAL WIS SbY 2 H5E Totele

15x—-7<9x+ 11

YEE
=%



5. x99 #;olx=0,1,2,3L o, 52 3x-2>1 9] s}& F5Fef=t.
R =
YERS



@ x=gFFelth. — x>0

@ x4 H A G}, — x> 4
@ xel1HgIazx gy —x<1
@ xe=7HG AT —x<7

B x=_6H 33 0olstoltk - —6<x<0



2 o], el A2?

—

@ -3x>-x-3

® 2x+1<x+4

® —2x+3>-2






9. 3<x<5YT, A=-2x+72 g A=Y

D -6<A<-5 @ -6<A<-5 ® -3<A<1

@ -3<A<1 ® -1<A<3



10. 2<x<13°1A=-2x+7<¥ ] A HY=0a< A <bO|T}.
olm, A<= a, b O] F2?

@D -14 ® -15 ® -16 @ -17 ® -18



=
54

bx+1<5x-29 a7t x>1< o, b O] 3L

® 0 3 1 @ 92

9

B 3



ol
N

37t 22 ), 2a 9]

3>x4+7% -2x4+a>99

54]
)

@ 1 3 2 @ 3 ® 5

Do



13. x = dggto] 3 Wt AL A5 W, 4x—1 < v +4 9] 3 BF

Fajolat,

B =
D EE



14.

b<a<0<cd o e v

® 2b+3>2a+3
b a

55— < -5——
® 3 < 3

® -5b+1<-5a+1



15.

x<0<y AT Ohe 5 £ AL BE Fomy
B7]
@ x+y<0 O x2+y2>0
© —x<-y @1<1
X oy
D 6, © @ © @ ® ©,0
@ @, O, ©® ® 0,0,




@1—%21—% @ —2a+1<-2b+1
b
@4+754+5 @ 3a-5=3b-5
3 3
® Za+6<-b+6

4 A



17. a<b @, 05 F 22 A2 EF 1=2H?
2 2
®3a_1<5b_1 @ 3-4a>3-4b
® —a+T<-b+T @ -2-2a<-2-2b
2 - 2-
5 a. b

3 3



18. -3<x<1% 1 5-2r 2 W2 Fojolal,

>R
c



19. —2<x<39 ), A=-3r-20ch A o] 995 Fatoiet.

>R
c



20.

1<x<2, -3<y<0 %", 2x-3y o HGT} =419 o

D -12

® -11

® 11

@ 13

® 15



21. -1<x+4+1<2,a<7-3x<b @ W, 3a-0b 9 Zt2?

D -4 ® -1 ® 0 @ 1



22,

>R
=%

4l



23.

o o1

x+2a =62 57} 3 B} 32| gkl

St off, a



24. 3x+1<-5+4x 9 & &4 9o e fH?

@ @ ____
® . @ .
4—«3—» 4—46—>
®
>




25, T EESA9x1+3<3x,5x+1>6x—a2 FEN7F EAT o], A

a o1 ge] W9

D a<?2 @ a>?2 B a<3 @ a<3 B a>3



